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QUESTION 1

An administrator is designing an ONTAP solution that consists of eight FAS8200 nodes in a single cluster. Each node
will use four ports for cluster connections. Which cluster interconnect switch model should be used in this scenario? 

A. Nexus 5596UP 

B. Nexus 5010 

C. CN1610 

D. CN1601 

Correct Answer: A 

The following cluster switches are supported: NetApp CN1610, Cisco Nexus 5596UP and 5596T. The cluster switches
use the following Inter-Switch Link (ISL) ports: 

References: https://library.netapp.com/ecm/ecm_download_file/ECMP1140532 

 

QUESTION 2

When a two-node cluster is expanded, which cluster configuration would be supported? 

A. a 4-node switched cluster 

B. a 4-node switchless cluster 

C. a 3-node switched cluster 

D. a 3-node switchless cluster 

Correct Answer: C 

If you are adding nodes to a two-node switchless cluster, you must have installed and configured the cluster
management and interconnect switches before adding additional nodes. The switchless cluster functionality is
supported only in a two-node cluster. 

References: https://library.netapp.com/ecmdocs/ECMP1636037/html/GUID-B13FF812-
785E-4E62-9914-30E7A8F51A4C.html 

 

QUESTION 3

Click the Exhibit button. 
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Which two data protection deployment configurations shown in the exhibit are supported? (Choose two.) 

A. configuration D 

B. configuration C 

C. configuration A 

D. configuration B 

Correct Answer: AC 

You can use SnapVault to protect a volume SnapMirror destination. You can perform SnapVault transfers from the
volume SnapMirror destination when you want to retain the data for a longer period. References:
https://library.netapp.com/ecmdocs/ECMP1196991/html/GUID-CD48796E- 5FD1-4C2E-B0B2-5773B1A6203C.html 

 

QUESTION 4

Click the Exhibit button. 

You create a volume as shown in the exhibit. Which statement about the new volume is true? 

A. A FlexVol volume is created on the aggregate (sas_01 or sas_02) with the most free space. 

B. A FlexVol volume is created on aggregate sas_01 can only be moved to aggregate sas_02. 

C. A FlexGroup volume is created with eight constituents. 

D. A FlexGroup volume is created with two constituents 

Correct Answer: D 

The Volume create parameter -aggr-list , ... - List of Aggregates for FlexGroup Constituents 
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Specifies an array of names of aggregates to be used for FlexGroup constituents. Each entry in the list will create a
constituent on the specified aggregate. 

References: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
cmpr-910%2Fvolume__create.html 

 

QUESTION 5

What is the minimum number of disks required to create a data aggregate with a RAID type of RAID-TEC? 

A. 7 

B. 6 

C. 5 

D. 4 

Correct Answer: B 

The aggregate that is to be converted to RAID-TEC must have a minimum of six disks. 

References: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm- psmg%2FGUID-
E63A0CB2-10B6-4998-AE34-10A5F8998361.html 
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